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CET6 Model Test One
E—&S ﬁt@:l%éﬁ

Part 1 Listening Comprehension (20 minutes)
Section A Short Conversations
Directions: In this section, you will hear 10 short conversations. At the end of
each conversation, a question will be asked about what was said. Both the conver-
sation and question will be spoken only once. After each question there will be a
pause. During the pause, you must read the four choices marked A), B), C)
and D), and decide which is the best answer. Then mark the corresponding let-
ter on the Answer Sheet with a single line through the centre.
Ezample : you will hear:
you will read : A) 2 hours B) 3 hours
C) 4 hours D) 5 hours
From the comcersation we know that the two are talking about some rwork
they will start at 9 o’clock in the morning and have to finish at 2:00 in the after- -
noon. Therefore, D) "5 hours” is the correct answer. You showld choose answer
[D] on the Answer Sheet and mark it with a single line through the centre.
Sample Answer [A] [B] [C] [H-]

1. A) He’s been in the program for several days.

B) He's working hard on the program.

) He works only during the day.

D) He will probably never finish.
2. A) Kevin organized them all.

B} Kevin and Frank divided them evenly.

() Frank gave most of them to Kevin.

)3 Frank took care of them.

. A) Apologize to Donna.

[95]

15 Confront Donna directly.
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C) Excuse Donna’s behavior.
1)) Write Donna a letter.
4. A) She’s putting it in a Kennel.
B) Ken is taking it on vacation.
C) It will be accompanying her.
D) Tt will be staying with Ken.
5. A) She’s too busy to go swimming.
B) She injured her neck.
C) She’s tired of swimming.
D) She’s afraid to swim in deep water.
6. A) Near an art museum.
B) At a science exhibit.
C) At a news conference.
D) Near a paint store.
7. A) She had other things to do.
B) She had to wait for others.
C) Her foot had seemed all right.
D) His injury had kept her at home.
8. A) They always agreed on the same points
B) She met with Amanda five more times.
C) They both arrived at the same points.
D) She took Amanda to both plays.
9. A) $ 6.5 B) $ 25.5 C) $ 16 D) $ 9.5
10. A) Teacher-Student. B) Customer-Waitress.
C) Lawyer-Client. D) Boss-Secretary.
Section B Compound Dictation

Directions: In this section you will hear a passage three times. During the first

reading , you should listen carefully for a general idea of the whole

passage.

Then listen to the passage again. When the first part of the passage is being

read s you should fill in the missing word during the pause at each blank. After

listening to the second part of the passage you are required to write
main points according to what you have just heard. Finally, when th
is read the third time you can check what you have written.

o
4
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Parents have to do much less for their children today than they used to

do, and home has become less of a (11) . Clothes can be bought ready
made, washing can go to the (12) _ , food can be bought cooked,
canned or (13) _, bread is baked and (14) ______ by the baker, milk
arrives on the doorstep, meals can be had at the (15) » the works’
(16) __, and the school dinning-roomi. '
It is unusual now for father to (17) - his trade or other employment

at home, and his children rarely, if ever, see him at his place of work. (18)

. The young wage earner often earns good money, and soon ac-

quires a feeling of economic independence. (19)

. With mother earning and his older children drawing substantial
wages, father is seldom the dominant figure that he still was at the beginning

of the century. (20)

Part I Reading Comprehension (35 minutes)

Directions: There are 4 passages in this part. Each passage is followed by some
questions or unfinished statements. For each of them there are four choices
marked A), B), C), and D). You should read the passages carefully and de-

cide on the best choice to answer the questions or complete the statements. U

o1 55N e
Questions 21 to 25 are based on the following passage: ~

The oil embargoes (£5i5) of 1973 —1975 caused great upset among the
manufacturers of automobiles around the world. In particular, American com-
panies were obliged to create innovations in producing small cars that would
compete in the market with those flowing into the American market from
Japan and Europe. No longer could Americans afford luxurious oil-consuming
vehicles.

Of first importance to today’s car owner is the cost of gasoline. American

3
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manufacturers have collaborated (& #£) to supply their client with small cars
that provide the comfort of the large American car, yet get better mi mileage than
any other car in the history of Amerlcan car production. It has become a ques-
tion of acutely competing with foreign car manufacturers or yielding to the in-
tense competition and losing a profitable business through indifference.

The American car industry has become flourishing again. The fuel con-
sumption of the new cars has decreased by 49% since 1997, mileage has risen
from an average 17. 2 miles per gallon to 25. 6 miles per gallon. These figures
are indicative of a major turnaround in engineering, manufacturing, and de-
sign. The industry has made appropriate use of the computer by installing a
microprocessor, a thin piece of silic;nmt the size of an aspirin, in new cars.
This small computer measures engine speed, engine load, and other functions,
and sends message to the fuel system and other parts of the car’s mechanism,
thus producing lower gas consumption and cleaner exhaust.

By designing modern, roomy, beautiful, sporty models, the automobile
industry has persuaded both the average-income and the wealthy car buyers to
purchase small cars. In addition to saving on gas, today’s car is built to save on
maintenance and repair expenses. Fewer ol changes, lubrications, and mainte-
nance checks are required. Furthermore, the manufacturer is including the
costs of maintenance in the buyer’s purchase price. New car advertisers now
claim that all the buyer has to pay for is gas. To fight corrosion, new coatings
have been developed that protect against the damage caused by road salts,
gravel, and other materials. Hence, when car owners are ready to turn in last
year’s car for a new one, they will find that their well-preserved used cars will
have an unusually high trade-in value.

Fuel efficient, safe, emission free, economical, and beautiful , today’s
cars are better bargains than any ever produced before.

21. What significance did oil embargoes have in the automobile industry?
\/\/)(4 manufacturers worldwide had to produce fuel-saving automobiles.

B) Automobile manufacturers had to make smaller cars.

C) The Japanese exported cars to America. %

D) Americans continued to drive American cars.. [

22. The microprocessor is

4
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A) vesponaible for the American car industry’s property
B) a major turnaround in American car manufacturing
C) # computer that saves gas and helps create cleaner emission .
D) an appropriate use of fuel consumption
23. The new,-small American cars are being bought .
Wdle—class and rich customers
B) because they save fuel
C) because of inflation
D) by Americans who want to help American business
24. New cars are a better bargain than those manufactured in years past be-

cause they

A) cost less to run and are built to last longer
B) have a built-in computer
\C) spfe fuel, have more safety features, cost less to maintain, and have a

‘ higher trade-in value

D) are a lot smaller and don’t rust because of better coatings
25. Tt can be inferred from the passage that ____

A) new ears are fuel efficient, modern, and beautiful

B) Adericans want their cars to be both beautiful and practical in terms of

comfort and cost

C) Americans will continue to buy European and Japanese cars because

they are cheaper 7<

D) if oil becomes plentiful and cheap again, Americans will not return to

buying large cars
Passage 2
Questions 26 to 30 are based on the following passage:

Insurance companies provide a service to the community by protecting it a-
gainst expected and unexpected disasters. Before an insurance company will a-
gree to insure anything, it collects accurate figures about the risk. It knows,
for example, that the risk of a man being killed in a plane accident is less than
the risk he takes in crossing a busy road. This enables it to quote low figures
for travel insurance. Sometimes the risk may be high, as in motor-racing or
mountaineering. Then the company charges a much higher price. If too many
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climbers have accidents, the price rises still further. If the majority of climbers
fail off mountains, the company will refuse to insure them.

An ordinary householder may wish tQ protect his home against fire or his
property against burglary. A shop keeper may wish to insure against theft. In
normal cases, the company will check its statistics and quote a premium; If it
is suspicious, it may refuse to quote. If it insures a shop and then receives a
suspicious claim, it will investigate the claim as a means of protecting itself a-
gainst false claims. It is not unknown for a businessman in debt to burn down
his own premises so that }Eﬁ’ claim mh?mrm;(;mpa—
ny. He can be sure that the fire will be investigated most carefully. Insurance
companies also accept insurance against shipwreck or disaster in the air. Planes
and ships are very expensive, so a large premium is charged, bma\red'qq@n is

given to companies with an accident free record.

\vli/vé;\wegmr;nce companies receive premium payments from cus-
tomers. These payments can form a very large total running into millions of
dollars. The company does not leave the money in the bank. It invests in prop-
erty, shares, farms and even antique paintings and stamps. Its aim is to obtain
the best possible return on its investment. This is not as greedy as it may
seem, since this is one way by which it can keep its premiums down and con-
tinue to make a profit while being of service to the community.

26. According to the first paragraph, which of the following statements is
TRUE? )
A) A passenger by air will take greater risk of being killed than a man.
crossing a busy road.7<\
B) ACpassenger by air will take less risk of being killed than a man cross-
ing a busy road. <~
C©) A passenger by air will have 10 pay more to the insurance company
than a mountain climber.
D) A motorist should pay the highest price to the insurance company.
27. From the passage we know that if accidents will happen nine times out of
ten, the insurance company will
A) charge a lower price
B) give a much higher price
6
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C) quote the highest price

D) n6t provide its insurance service
28. If a shop owner in debt destroyed his own houses, his purpose would most

probably beto - .

A) lower the premium he should pay to the insurance company

B)6btain a large sum of money from the insurance company

C) clean up the surrounding circumstances

D) ask the insurance company to help him to rebuild his shop
29. According to the passage, if an airline has an accident-free record, it usu-

ally pays ___ to the insurance company.

A) no pfemium

\Q))é‘:remium

C) a large premium

D) the same premium as the other companies
30. The main idea of the last paragraphis .

A) that the insurance company is greedy of gain X

B) thay/he insurance company makes large sums of money every week

e insurance company makes a great profit by investing its money in
different items

D) hoythe insurance company makes use of its incomes and the reason

hy it should doso -
Passage 3
Questions 31 to 35 are based on the following passages :

There is a confused notion in the minds of many persons, that the gather-
ing of the property of the poor into the hands of the rich does no ultimate
harm, since in whosoever hands it may be, it must be spent at last, and thus,
they think, return to the poor again. This fallacy has been again and again ex-
posed; but granting the plea true, the same apology may, of course, be made
for blackmail, or any other form of robbery. It might be ( though practically it
never is) as advantageous for the nation that the robber should have the spend-
ing of the money he extorts, as that the person robbed should have spent it.
But this is no excuse for the theft. If I were to put a turnpike on the road
where it passes my own gate, and endeavor to exact a shilling from every pas-
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